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AB W1 W error
Xq ﬂ: D Xq i‘«‘ D %
1.0 1.4020 1.3760 24
13 1.2588 1.2340 2.0
1.7 0.9155 0.8990 1.8
2.0 0.7021 0.6930 1.3

Nota 1.gABAEN)=1 , th=0, V=03
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A/B M M M, M, M*, error| M, error
(=A2y=0) } (x=0,y=B/2) | (x=A/2y=0) | (x=0,y=8/2) % %
1 -5.063 -5.063 -6.13 l +5.13 13 1.3
1.3 -6.852 -5.436 -8.87 -5.63 0.3 3.45
1.7 -7.989 -5.317 -1.99 -5.71 0.1 6.88
2 -8.287 -5.163 ' -;29 -5.71 0.02 9.75

Nots 1. gAB/EN)=1 , th=0 , V=03
2. M% = Mo/ (GA" X100 vaagish
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M, = M,.l(qA’ X100 vaduaiassusiuas
M = M, /( QA" )x100 vaofish
M*, = M,/ (GA” X100 Deonmiassuiumm
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rfl 3 usmeemafiowsinves Me, A
IWenluunmuvos)ismdely
SwanuoBiundene 9nu lunsdl
vassnwweuiDusuuBauiu 4 dw

mesh M, M, error
(=0,y=8/2) %
10x10 -5.153 9.75
12x12 -5.304 7.1
14x14 -5.400 5.43
16x18 -5.465 429

Note 1. GABAEh)=1 , #h=0 , VB =2.0, v=0.3
2, M, = M,/ (gA” Jx100 voef3st
3. Py=q
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